	Solve by finding square roots. 
x2 +16  = 0

Choose the best answer and fill in the blanks:
A. This equation has 2 real solutions _____   

and ____ because_____________________   

B. This equation has no real solutions because___________________________

C. This equation has one real solution____ 
because ____________________________

	Solve by finding square roots.

x2 = 80
Choose the best answer and fill in the blanks:
 A. This equation has 2 real solutions _____   

and ____ because____________________   

B. This equation has no real solutions because___________________________

C. This equation has one real solution____ 

because____________________________



	Solve by finding square roots. 
4x2 + 9 = 41

Choose the best answer and fill in the blanks:
A. This equation has 2 real solutions _____   

and ____ because_____________________   

B. This equation has no real solutions because___________________________

C. This equation has one real solution____ 

because ____________________________


	Solve by finding square roots. 

4x2 + 6 = 7

Choose the best answer and fill in the blanks:
A. This equation has 2 real solutions _____   

and ____ because____________________   

B. This equation has no real solutions because___________________________

C. This equation has one real solution____ 

because____________________________




	Solve by finding square roots. 

3x2 + 1 = 54

 A. This equation has 2 real solutions _____   

and ____ because____________________   

B. This equation has no real solutions because___________________________

C. This equation has one real solution____ 

because____________________________


	Solve by finding square roots. 

3x2 - 75 = 0

A. This equation has 2 real solutions _____   

and ____ because____________________   

B. This equation has no real solutions because___________________________

C. This equation has one real solution____ 

because____________________________



	Solve by finding square roots. 
3x2 - x2 = 10

Choose the best answer and fill in the blanks:
A. This equation has 2 real solutions _____   

and ____ because____________________   

B. This equation has no real solutions because___________________________

C. This equation has one real solution____ 

because____________________________

	Solve by finding square roots. 

2x2 - 10 = -4

Choose the best answer and fill in the blanks:
A. This equation has 2 real solutions _____   

and ____ because____________________   

B. This equation has no real solutions because___________________________

C. This equation has one real solution____ 

because____________________________




1. How many solutions can a quadratic equation have?
2. How can you determine the number of solutions from the graph? 

